CIV 328 – Structural Analysis

Lab 5 – Beam Deflections

February 19, 2009
Use RISA to model the beam shown in Problems 9-53 and 9-54. Follow the instructions below and use instructions from previous labs as necessary.
1. Apply the loads shown in your book and use a load factor of one (1) so that the loads shown are the factored loads applied to the structure.
2. Create a single section set for the beam (a W14x26 has a moment of inertia of 245in4) and choose any grade of steel you want—the all have a modulus of elasticity of 29,000ksi. 
3. Run the model and compare your deflections to those in the back of the book for these two problems (they should be identical). 
4. Access the plot options dialog box (use the button shown below) and click on the deflection diagram tab. Select “Load Combination (pick from list at bottom)” to show a deflected shape. Click the option to include the undeflected shadow, then click “Animate This Deflected Shape” to see an animation of the deflection.
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5. Close the animation window and plot the static deflected shape of the beam along with the joint deflections spreadsheet for submission. 
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